Equal 9 step grey scaling betweebh* gan=23 & L*gaw=104.2,Yyet=1, normalisation white W

L*0anm23.7,L%0au=64.0,L* 0aw=104.2, Yoan=3.6, Y0a=35. 7, Y0anw=110.0,Coay=Yoaw: Yoan=30.2
L*taN=26.2,L*1a=64.5, L*taw=104.2,Y;an=4.6, Yta=36 .4, Ytaw=110.0,Cray=Ytaw: Ytan=23.9
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* = 100 BL* min] / [AL* max], L* TusrGB,w = 100 [Y/Yy]YIN(10) with Y >= 0,39 = 100/255Y,=100

g*_*5: 99, g%y= 99 9%= 93, g%= 91 g*5= 9_1, g'y= 89
L* tuBsrGB,w intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a AlL*a L*r Yta (L*tr) 107 *a Al*la
120+ '
()9 1042 10 1100 10 104.2100 1.0 1100 1.0 104.2 04
90+ 8 942 0875 871 0.784 94.295 0.872 873  0.88 94.8 9'4
7 841 075 671 0597 843 9'9 0.744 675  0.759 85.4 9'5
6 740 0625 500 0436 744 9'9 0.617 50.6  0.637 75.9 9'6
1 @5 640 05 357 0.302 645 049 36.4 0.513 66.3
60 : 9.8 9.7
@+ 539 0375 241 012 54.697 0.364 249  0.389 56.5 08
@: 438 025 150 0107 449 9'5 0.239 158  0.262 46.7 160
30*.2 338 0125 82 0043 354 0.117 9.1 0.134 36.7 ‘
: 1 105
.1 237 00 36 00: 262 00 46 0.0 26.2
0”‘
YoaitYoref

*o = i= normalisation: Yiajw=Y(
AL*04=10.1 (=1,2,..8) i taiw OaWYOaW+Y0ref
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